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i BX720x 120 220 150 120 200 654 640 628 479 650 460

BX720% 130 220 160 130 200 689 675 663 514 686 495
B BX720 % 140 220 170 140 200 725 710 698 550 721 530
I BX720x 150 220 180 150 200 760 746 734 585 756 566
_»}BX720 X160 220 190 160 200 795 781 769 620 791 601

BX720x 170 220 200 170 200 831 816 804 655 827 636

CX730x 120 230 150 120 250 715 700 681 486 709 466
[ CX730x130 230 160 130 250 751 736 717 521 744 501 -
[ £X73O X 140 230 170 140 250 786 771 753 b57 780 537
__CX730 X 150 230 180 150 250 822 807 789 593 816 573
[t CX730x 160 230 190 160 250 868 843 824 629 862 609

CX730x 170 230 200 170 250 894 879 860 664 888 644




